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Introduction to Calorimetry

) a.If50
—d .0 g of water and 50.0 g of copper each absorb 2500. joules of energy, which substance will have the

» 8reater increase in temperature?
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b. Which substance had the greater increase in temperature? Explain using specific heat capacity.

2) If45.75 g of water changes temperature from 36.0°C to 79.0°C, how much energy did this require?

3) Determine the quantity of aluminum that loses 13450. joules to decrease its temperature by from 97.8 °C to
59.8 °C? The specific heat capacity of aluminum is 0.900 J/g°C

4) If 26.7 grams of water at 87.0 °C releases 1585 J of energy, what is the final temperature?

=  Determine the initial temperature of a 16.0 g sample of water at 35.8 °C that absorbed 5675 J of energy?
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6) If 16.7 grams of ethanol cools from 100. °C to 82 °C by releasing 739 J of energy, determ
heat capacity of the ethanol.

o o7
7) How many joules of heat are released when 5.00 g of water cools from 75.0 °C to 25.0 °C?

8) When 20 grams of water is cooled from 20°C to 10°C, determine the number of joules of heat released.

9) What is the total number of joules of heat that must be absorbed to change the temperature of 100. grams of
H,0 from 25.0 °C to 30.0 °C?

10) How many joules of heat are needed to raise the temperature of a 4.52 gram sample of water by 8.5 °C?
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greater increase in temperature? o
. Q= aBC0. §
(R=2a5W.3 e it
B0 gt -- o= 0. 325k
C= 0.3 TWC s =
AAT A e ML o
| Specific heat capacity=4.18 J/g°C Specific heat capacity= 0.386 J/i- C
| = = N
| O Q= v ¢ LS o A= soc _
@ B0 FEo. OB (8 B0 N = &0-0)(0 BT
= A0 N 2500.= \ R AN
2600, =20 5T | e N o
20 al] : NS

ov= WAL C=fAFC| XT= \aA.BC=NS0 C\
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8) 2(? grams of@tj_g;s cooled from 20°C to 10°C, determine the number of Joules of heat released.
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q/‘:_ ! q(' e BT \
— K — Ly W \ ) -
0 dar e VT IO Sy
4 =(\e0 3
™
=

Scanned by CamScanner



